fZiEHE / Diaphragm Valves

VDV32UB %%

VIGOUR

Wir bieten Losungen fir lhre Ideen!
We offer solutions regarding your ideas!

| =54s

- ERTHSAFERENRETESLE. ZNSESHSRER
- HERREY, BEMMINESMTE

« AIWFR, BRFIRTRIRES
« EHIHFSARIE

« tEREERIRL 9 PCTFE, Vespel® / PFA ik

mE / ENEFER

1=
=7}

SR RS EE

\
|
|
J
5 o | == 7:‘,77,\ ~ | _150°C, 7.6bar
o | | | | | Tt |
Sl
'R 5h—fp——+ - —— - — | . —
A . u
| | | | | | Lo | | 2 E
A R I R NN NN N B
|
10 0 20 40 60 80 100 120 140 160 180 200 g —
R —— PCTFE (®EE
N=1=3 OC
umj;( ) 77777 PI/PA ﬁﬁ&

| 5ARS%

BRATIERESD:
SETIEES:
BATIERE.
RECEE:
%5

B

[y

Y

Fif:
RIERHHRER:
HNEBitRER:
RES

g&:

B B BT BE T
o) il b} =) &

1728

150 psig (10 bar)

58~87psig (4-6bar)

-10°F ~ 150°F (-23°C ~ 65°C)
10uin. Ra

FIITIESE

Elgiloy®

PCTFE

AL

1x10° mbar I/s He

1x10° mbar I/s He

1/4" Cv=0.3 3/8" 1/2" Cv=0.65
#30.27kg




VIGOUR

Wir bieten Losungen fir lhre Ideen!
We offer solutions regarding your ideas!

Diaphragm Valves / [ZlEHE

VDV32UB %7l

e
OPEN 0°
[
gyssxo.s\ |

3/4 FoBL (VFS SMEK)

| iTlasx

¥R

S: 316L
SLV: 316L RISk

HATHAE

M: FEFE

PO: SzhB! BEFF
PC: SE1E! EiF

SEETIF

FIMIZRP52: SEAMEE.,

=

E = T

7
OPEN 0
I
) 2-M5x0.8 ¥ ‘
i DP6 ™~ =
— i
P ol i ud N
1 i
B 7
L E I

IF

% :

2-M5X0.8
DP6 Y

1/2 SEHEY (VFS PIRLY)
Fap
IHOERE LORT RS (mm)
(mm) "o B | C E F| L |[H
1/4" VFS 514841 44 | ®45 |26 [ 11 | ®254 | 26 | 57 | 64
1/4" VFS PIIREL 44 D45 | 26 | 11 | @254 | 26 | 71 | 64
3/8" VFS sMBLy 7 45 |36 [182 | ®28 [ 36| 77 | 78
1/2" VFS 5B 7 45 | 36 |182 | ®28 | 36| 77 | 78
1/2" VFS PB4 7 45 | 36 [182 | ®28 | 36| 83 |78
3/4" VFS SMBLY 7 45 | 36 [215 | ®28 | 36 [1223] 82
3/4" VFS PR 7 ®45 | 36 [215 | ®28 | 36 |1063] 82
SahB (BFEER)
RO Rapsx | FLORY RS (mm)
(mm) [ B| C D E FILIH
1/4" VFS JMBLL N.C/N.O 44 | ®396| 26 | 11 | M5x0.8 |®254| 26 | 57 | 70
1/4" VFS PIBL NC/NO | 44 |®396] 26 | 11 | M5x0.8 |®254| 26 | 71 | 70
3/8" VFS MBS N.C/N.O 7 ®55 | 36 |182 | RC1/8 | ®28 | 36 | 77 | 78
1/2" VFS §M8E N.C/N.O 7 ®55 | 36 [182 | RC1/8 | ®28 [ 36 | 77 [ 78
1/2" VFS pR8e N.C/N.O 7 ®55 | 36 [182 ] RC1/8 | ®28 | 36 | 83 [ 78

174", 3/8" 172" EHRIESE, HCEELNESETI .

VDV32UBS - M - A - MV4 - MV4 - PA — [REEEIT

Z[: PCTFE (tRA)
VS: Vespel®
PA: PFA

.

im iR
MV4: 1/4" VFS SMELY

FV4: 1/4" VFS Pige
TW4: 1/4" jRigise

MV6: 1/2" VFS SMZzy 3/8" O.D.
FV6: 1/2" VFS 924y 3/8" O.D.

TW6: 3/8" ISzt

MV8: 1/2" VFS §MEBLY

FV8: 1/2" VFS pIigLy

TWS8: 1/2" |Sissises

MV12: 3/4" VFS §MBLY
* HithiERERE, I5EIREHERE.

B B
8 )

neE Tk
) &8

(314
i)




VIGOUR

Wir bieten Losungen fir lhre Ideen!
We offer solutions regarding your ideas!

Diaphragm Valves / g1
SEHEE

| BO0==E:

*Pz
;Pj B *5; *P1: HSESH
*Pa: HRIESD
+Pz
| FisOREsKRE
P,
- A, .
*P * h 2
i« «[ Ve e P& |+
“hRAE B R B" # *é%ﬂ%%uu
| = RORESEE
P4 P, P, P4 P, P, P, P,
] - [3] [1]« <[3] (1]« -»>[3] (1]« <[3]
+ P2 + P * P, * P,
B D" B BB FroB
P4 P> P4 P
] -»>[3] [1]-» <[3]
4P v P
G B HY B
I @Hﬁ'ﬁuf)lbiil—z\ft%g
[4]
40, 4p,
P P, P4 Py
[1]> - [3] [1]> <[3]
v P: VP
(L] ]

@

B
8

&

BT BE T
PR &) It

T
0



